

Converting Fahrenheit to Celsius (C)

Estimate or convert the temperatures.

$61^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$70^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$70^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$33^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-58^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$33^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$84^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$21^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-79^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-89^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$8^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-71^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-18^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$76^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-97^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-95^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$81^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-51^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-75^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-7^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-65^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-81^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$36^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-70^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-17^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$54^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-98^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-20^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-10^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-84^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$